
 

30 1. B(5 ;  1), C(–1 ;  3), D(7 ;  3) et E(2 ;  –2). 

2. a. 

 

AB⃗⃗⃗⃗  ⃗ = 3𝑖  donc AB⃗⃗⃗⃗  ⃗(3 ; 0). 

AC⃗⃗⃗⃗  ⃗ = −3𝑖 + 2𝑗  donc AC⃗⃗⃗⃗  ⃗(–3 ; 2). 

AD⃗⃗⃗⃗  ⃗ = 5𝑖 + 2𝑗  donc AD⃗⃗⃗⃗  ⃗(5 ; 2). 

AE⃗⃗⃗⃗  ⃗ = −3𝑗  donc AE⃗⃗⃗⃗  ⃗(0 ; –3). 

 

b. A(2 ; 1) et B(5 ; 1). 

AB⃗⃗⃗⃗  ⃗(𝑥𝐵 – 𝑥𝐴 ; 𝑦𝐵 – 𝑦𝐴) donc AB⃗⃗⃗⃗  ⃗(5 – 2 ; 1 – 1). D’où AB⃗⃗⃗⃗  ⃗(3 ; 0). 

 

A(2 ;  1) et C(–1 ; 3). 

AC⃗⃗⃗⃗  ⃗(𝑥𝐶 – 𝑥𝐴 ; 𝑦𝐶 – 𝑦𝐴) donc AC⃗⃗⃗⃗  ⃗(–1 – 2 ; 3 – 1). D’où AC⃗⃗⃗⃗  ⃗(–3 ; 2). 

 

A(2 ; 1) et D(7 ; 3). 

AD⃗⃗⃗⃗  ⃗(𝑥𝐷 – 𝑥𝐴 ; 𝑦𝐷 – 𝑦𝐴) donc AD⃗⃗⃗⃗  ⃗(7 – 2 ;  3 – 1) donc AD⃗⃗⃗⃗  ⃗(5 ; 2). 

 

A(2 ; 1) et E(2 ; –2) 

AE⃗⃗⃗⃗  ⃗(𝑥𝐸 – 𝑥𝐴 ; 𝑦𝐸 – 𝑦𝐴) donc AE⃗⃗⃗⃗  ⃗(2 – 2 ; –2 – 1) donc AE⃗⃗⃗⃗  ⃗(0 ; –3). 


